

NEINOR HOMES, S.A. (the "Company"), pursuant to the article 228 of the consolidated text of the Spanish Securities Market Act and by the Circular 1/2017 of the Spanish Securities Market Commission (CNMV) regarding the liquidity contracts, hereby notifies the following:

SIGNIFICANT EVENT

In relation with the significant event published the 27th September of 2017 with registry number 256770 regarding the liquidity contract and in accordance with the provisions contained in rule fourth paragraph 2b) of Circular 1/2017, the Company attaches the detail of the transactions for the period comprised between 01/01/2020 and 31/03/2020.

Date	Concept	Shares	Cash Balance (€)	Average Price (€)
27/09/2017	Initial Balance of the Agreement	28,000	500,000	
01/01/2020	Initial Balance of the period	56,930	286,174	
	Acquisitions of the period	148,290	1,434,928	9.68
	Sales of the period	142,678	1,395,698	9.78
	Stock Exchange Fees		4,634	
31/03/2020	Final Balance of the period	62,542	242,310	

Madrid, April 6th, 2020.

Transactions according to trading dates.

No block trades were performed by the liquidity agent during the period.



Date of Transaction	Transaction	Number of Transactions	Total Shares	Average Price	Total Euros
02/01/2020	Acquired	2	800	11.14	8,910
02/01/2020	Sold	11	5,100	11.16	56,920
03/01/2020	Acquired	5	1,924	11.35	21,837
03/01/2020	Sold	9	4,800	11.42	54,839
06/01/2020	Acquired	10	3,818	11.44	43,662
06/01/2020	Sold	1	300	11.47	3,441
07/01/2020	Acquired	6	3,000	11.21	33,628
07/01/2020	Sold	10	3,500	11.25	39,370
08/01/2020	Acquired	2	691	11.32	7,823
08/01/2020	Sold	6	3,100	11.33	35,122
09/01/2020	Acquired	6	3,000	11.57	34,698
09/01/2020	Sold	8	2,130	11.57	24,644
10/01/2020	Acquired	6	3,000	11.35	34,041
10/01/2020	Sold	4	2,450	11.38	27,872
13/01/2020	Acquired	3	2,750	11.40	31,356
13/01/2020	Sold	3	2,550	11.43	29,143
14/01/2020	Acquired	3	2,251	11.41	25,683
14/01/2020	Sold	4	2,351	11.41	26,828
15/01/2020	Acquired	9	3,158	11.24	35,496
15/01/2020	Sold	2	600	11.23	6,738
16/01/2020	Acquired	5	3,300	11.02	36,360
16/01/2020	Sold	1	340	11.02	3,747
17/01/2020	Acquired	5	1,900	11.09	21,073
17/01/2020	Sold	5	2,927	11.15	32,627
20/01/2020	Acquired	6	1,900	10.90	20,710
20/01/2020	Sold	8	3,450	10.95	37,784
21/01/2020	Acquired	8	2,434	10.98	26,736
21/01/2020	Sold	6	2,250	11.04	24,835
22/01/2020	Acquired	4	3,300	11.03	36,392
22/01/2020	Sold	7	3,300	11.07	36,534
23/01/2020	Acquired	9	4,600	10.92	50,212
23/01/2020	Sold	2	700	11.05	7,734
24/01/2020	Acquired	3	1,200	10.87	13,041
24/01/2020	Sold	1	1,000	10.90	10,900
27/01/2020	Acquired	7	3,300	10.59	34,951
27/01/2020	Sold	4	1,493	10.57	15,775
28/01/2020	Acquired	1	300	10.76	3,228
28/01/2020	Sold	6	2,304	10.71	24,682
29/01/2020	Acquired	6	2,400	10.72	25,716
29/01/2020	Sold	3	400	10.69	4,277
30/01/2020	Acquired	8	2,000	10.44	20,878
30/01/2020	Sold	3	655	10.43	6,831
31/01/2020	Acquired	18	4,150	10.00	41,500
31/01/2020	Sold	5	1,025	9.96	10,208
03/02/2020	Acquired	5	1,200	9.68	11,618
03/02/2020	Sold	8	2,600	9.70	25,220
04/02/2020	Acquired	6	1,600	10.03	16,053
04/02/2020	Sold	10	3,500	10.03	35,105
05/02/2020	Acquired	6	1,300	10.13	13,164



05/02/2020	Sold	5	1,680	10.14	17,027
06/02/2020	Acquired	6	3,331	10.01	33,336
06/02/2020	Sold	6	2,000	10.05	20,095
07/02/2020	Acquired	5	1,300	9.97	12,966
07/02/2020	Sold	4	2,100	9.99	20,988
10/02/2020	Acquired	4	1,400	9.99	13,982
10/02/2020	Sold	3	1,400	10.01	14,018
11/02/2020	Acquired	7	1,950	9.93	19,371
11/02/2020	Sold	3	474	9.95	4,714
12/02/2020	Acquired	4	900	10.05	9,048
12/02/2020	Sold	11	5,000	10.14	50,714
13/02/2020	Acquired	5	1,970	10.11	19,909
13/02/2020	Sold	4	943	10.19	9,607
14/02/2020	Acquired	1	100	10.19	1,019
14/02/2020	Sold	4	1,800	10.22	18,402
17/02/2020	Acquired	3	1,300	10.32	13,411
17/02/2020	Sold	3	1,100	10.34	11,372
18/02/2020	Acquired	5	1,800	10.32	18,584
18/02/2020	Sold	3	1,200	10.37	12,441
19/02/2020	Acquired	6	1,900	10.15	19,285
19/02/2020	Sold	7	2,171	10.18	22,093
20/02/2020	Acquired	3	782	10.25	8,013
20/02/2020	Sold	6	2,700	10.32	27,871
21/02/2020	Acquired	11	4,050	10.53	42,652
21/02/2020	Sold	2	1,000	10.79	10,785
24/02/2020	Acquired	4	2,650	9.98	26,445
24/02/2020	Sold	2	1,600	10.03	16,044
25/02/2020	Acquired	10	3,000	9.67	28,997
25/02/2020	Sold	2	2,041	9.72	19,829
26/02/2020	Acquired	8	2,200	9.61	21,147
26/02/2020	Sold	5	2,105	9.63	20,264
27/02/2020	Acquired	7	1,500	9.88	14,819
27/02/2020	Sold	9	3,200	9.91	31,719
28/02/2020	Acquired	5	800	9.91	7,925
28/02/2020	Sold	15	3,700	10.17	37,647
02/03/2020	Acquired	11	3,350	10.19	34,139
02/03/2020	Sold	7	2,500	10.30	25,742
03/03/2020	Acquired	3	900	10.22	9,195
03/03/2020	Sold	9	3,100	10.34	32,062
04/03/2020	Acquired	2	500	10.66	5,328
04/03/2020	Sold	14	4,700	10.68	50,196
05/03/2020	Acquired	8	2,400	10.52	25,258
05/03/2020	Sold	4	1,800	10.80	19,434
06/03/2020	Acquired	11	3,500	9.98	34,915
06/03/2020	Sold	5	2,100	10.06	21,120
09/03/2020	Acquired	10	3,728	8.98	33,470
09/03/2020	Sold	2	1,000	9.02	9,023
10/03/2020	Acquired	8	2,400	8.95	21,481
10/03/2020	Sold	6	2,100	9.01	18,925
11/03/2020	Acquired	13	3,400	8.69	29,542
11/03/2020	Sold	3	800	8.72	6,978



12/03/2020	Acquired	14	4,300	7.97	34,262
12/03/2020	Sold	7	3,242	8.16	26,464
13/03/2020	Acquired	12	4,000	8.09	32,348
13/03/2020	Sold	7	1,900	8.43	16,021
16/03/2020	Acquired	5	2,000	6.99	13,972
16/03/2020	Sold	3	2,100	6.87	14,437
17/03/2020	Acquired	5	2,400	7.04	16,897
17/03/2020	Sold	7	3,780	7.21	27,249
18/03/2020	Acquired	5	2,700	7.69	20,756
18/03/2020	Sold	7	3,100	7.70	23,866
19/03/2020	Acquired	7	2,600	7.98	20,744
19/03/2020	Sold	9	2,170	8.03	17,415
20/03/2020	Acquired	9	2,200	7.47	16,440
20/03/2020	Sold	2	400	7.55	3,021
23/03/2020	Acquired	8	1,900	7.17	13,630
23/03/2020	Sold	7	2,200	7.22	15,889
24/03/2020	Acquired	12	4,300	7.08	30,443
24/03/2020	Sold	9	2,500	7.35	18,376
25/03/2020	Acquired	9	3,100	7.07	21,928
25/03/2020	Sold	7	3,377	7.26	24,515
26/03/2020	Acquired	2	700	7.18	5,026
26/03/2020	Sold	4	1,444	7.18	10,369
27/03/2020	Acquired	7	2,866	7.24	20,752
27/03/2020	Sold	12	4,100	7.23	29,633
30/03/2020	Acquired	6	1,600	7.32	11,717
30/03/2020	Sold	5	2,076	7.32	15,186
31/03/2020	Acquired	10	3,237	7.11	23,014
31/03/2020	Sold	9	3,150	7.29	22,973
	· · · · · · · · · · · · · · · · · · ·				